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Find the x-coordinateof common points, the number of common points,

the positional relationship between the graph of

the following quadratic function and the x-axis.
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Find the x-coordinateof common points, the number of common points,
the positional relationship between the graph ofthe following

quadratic function and the x-axisusing the discriminant D.
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Find the x-coordinateof common points, the number of common points,

the positional relationship between the graph of

the following quadratic function and the x-axis.
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Find the x-coordinateof common points, the number of common points,

the positional relationship between the graph ofthe following

quadratic function and the x-axisusing the discriminant D.
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Find the number of common points between the graph
of the following quadratic function and the x-axis.
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Find the x-coordinate of the common point between the graph

of the following quadratic function and the x-axis.
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Find the x-coordinate of the common point between the graph

of the following quadratic function and the x-axis.
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ey bAED
15 B il &
O y=x2—2x+3 O y=x2—4x+5
l+2
=@ — /) +2
Hro)Th
18 2(7 , 2) \\/é

@ y=x2+2x+3
D—=22—4 x7 x3

B
=—8<0 MxrL

@ y=x2+4x+5




[CREIVIE )

L i?’(b L& é’U\tﬁ

nEw

1.

C i

&@2&&%&@777&%&&@ N

sk&)f;éb\o

Find the x-coordinate of the common point between the graph

of the following quadratic function and the x-axis.
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Find the x-coordinate of the common point between the graph

of the following quadratic function and the x-axis.
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Find the number of common points between the graph of
the following quadratic function and the x-axis.
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Find the number of common points between the graph of the following
quadratic function and the x-axis using the discriminant D.
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Find the number of common points between the graph of
the following quadratic function and the x-axis.
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Find the number of common points between the graph of the following
quadratic function and the x-axis using the discriminant D.
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Find the positional relationship between the graph of
the following quadratic function and the x-axis.
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Find the positional relationship between the graph of the following
quadratic function and the x-axis using the discriminant D.
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Find the positional relationship between the graph of
the following quadratic function and the x-axis.
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Find the positional relationship between the graph of the following
quadratic function and the x-axis using the discriminant D.
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